







Prop If X is put connected
the
$$\forall$$
 f.g: Lo, J \rightarrow X
we have forg.
Proof We first assume that f & g
are constant saps:
f (Lo, i) = x \in X & g(Lo, J) = y \in X
Since X is put connected we
have
 \therefore Lo, J \rightarrow X
with $\forall (o) = x & \forall \forall (i) = y$.
 $\forall f = 1 \quad y$
project to
the vertical side
Define $\pi(s, \epsilon) = t & d$
 $F(s, \epsilon) = \forall \sigma T(s, \epsilon) = \forall(\epsilon)$.



Examples Let
$$X_{2}[o,i] \in \mathcal{L}$$

f: $[o,i] \rightarrow [o,i]$ with
 $f(a_{1} \circ a_{1}) = 1$. Note that
 F fixes
 $a \in 1$.
Define
 $f(a_{1} \circ a_{2}) = (1-1) f(a_{1} + 2a_{2})$
 $a \in 1$.
Define
 $f(a_{1} \circ a_{2}) = (1-1) f(a_{1} + 2a_{2})$
 $a \in 1$.
Define
 $f(a_{2} \circ a_{2}) = (1-1) f(a_{2} + 2a_{2})$
 $a \in 1$.
 $a \in 1$.
 $f(a_{2} \circ a_{2}) = (1-1) f(a_{2} + 2a_{2})$
 $a \in 1$.
 $a \in 1$.
 $f(a_{2} \circ a_{2}) = (1-1) f(a_{2} + 2a_{2})$
 $a \in 1$.
 $f(a_{2} \circ a_{2}) = (1-1) f(a_{2} + 2a_{2})$
 $a \in 1$.
 $f(a_{2} \circ a_{2}) = (1-1) f(a_{2} + 2a_{2})$
 $a \in 1$.
 $f(a_{2} \circ a_{2}) = f(a_{2}) = f(a_{2})$
 $f(a_{2} \circ a_{2}) = f(a_{2}) = f(a_{2}) = f(a_{2})$
 $f(a_{2} \circ a_{2}) = f(a_{2}) = f(a_{2}) = f(a_{2}) = f(a_{2})$
 $f(a_{2} \circ a_{2}) = f(a_{2}) = f(a_{2})$



More generally if
$$f_1g: Lo, iJ \rightarrow Lo, j$$

we have the homotopy
 $F(s_1t) = (1-t)f(s) + t g(s)$

We can combine: A reparameterization
of a path is homotopic to the
original path.
If
$$\tau$$
: Lo, is a long is a homeomorphism
 Δ f: Lo, is a χ is a path
then for for

To nake things more interesting we can replace
$$20/3$$
 with any topological Space.
We can also bok at maps of pairs.
In general it is much harder to show that maps are not homotopic.
The circle S'.
 $S'= \{24.03\} \in 12^{2} | x^{2}+5^{2}=13\}$
 $S'= \{24.03\} \in 12^{2} | x^{2}+5^{2}=13\}$
 $S'= \{26.03\} (2| - x^{2}+5^{2})$
 $S'= [2 \in \mathbb{C} | [2| = 13] |2| = x^{2}+y^{2}$
 $S'= [2 \in \mathbb{C} | [2| = 13] |2| = x^{2}+y^{2}$
 $S'= [2 - x^{2}y]$
 $S'= [2 - x^$



Alternative contruction.
Define
$$n$$

 $f_n: IR \rightarrow IR$
by $\hat{f}_n(G) = nt$.
Note that $\hat{f}_n(t+n) = n(t+n) = nt + nm$
so in our equivalence vertice nm
we have $\hat{f}_n(G) = \hat{f}_n(t+n)$.
 \hat{f}_n takes equivalence classes to
 $equivalence$ classes to
 $equivalence$ classes to
 $equivalence$ classes
 $IR = \hat{f}_n IR$
 $\pi \int \int IR = \int IR \int IR$
 $\pi \int \int IR = \int IR \int IR$
 $\pi \int \int IR = \int IR \int IR$
 $r \in S' = \int S' G(G)$
 $Cho ose some for $R = S6$
 $TT(G) = X$
 $Define f_n(X) = TT = \hat{f}_n(G)$.$